1 | ? 3 4 5 | 6 | ] | 8
Max Appli. Motor (kW) Terminal Symbol ooling| Wass
DWG-NO- £77902075-1/1 Mode L No. Normal Buly T Heavy Duly eu T ol R T CoToRy Lar | kg
CIMR-LT200346A - 90 R/L1 S/L2 T/L3 | U/T1 V/T2 W/T3 | 3 | 98
CIMR-LT200415A 110 R/L1 S/L2 T/L3 | U/T1 V/T2 W/T3 | 3 | 99
Third Angle Projection TR ST
Dimensions in mm 4-Mounting Holes CIMR-LU200346A 30 R/LT S/L2 T/L3 | U/TT V/T2 W/T3 | 3 | 98
for M12 Screw CIMR-LU200415A 110 R/LT S/L2 T/L3 [ U/T1 V/T2 W/T3 ] 3 99
-~ CIMR-LU4D00260A 132 R/L1T_S/L2 T/L3 | U/T1 V/T2 W/T3 | 3 | 102
= (589.2) CIMR-LU400304A 160 R/L1 S/L2 T/L3 | U/T1 V/T2 W/T3 | 3 | 101
- ‘ ‘ Lair CINR-[U200200A : TR0 T RILT /LS TS U T W3
EXE ] 2 o 0:h fo 1
° = e ee[c © 69.2
2x5.1P=10.2
=4 TR ) W= 1. IRFRLETY.
1Ry - ° 2.3 319.6
o ° 10x5P=50
Digitol il 5.5
Operator 11x5P=55
(] o (V@) o 25 S -
2 = & 304.8  |][10x5P=50
. I “ 05w [ BT o
| o | ~ [ g WWW
= I - -
220020022229 - ° i
o ) — \ ; IU‘I
g _ < | fiill ) — ~
s 8 ° o © 0fo ) (: DGJIOI[A S 3143
| S WO - L= K Rl ﬁ‘EAirﬁl o Scale 1:2 319.4
~ Main Terminals
65 370 (65) 44%5 with M10 Screw Section B-B
(3) 350 Detail A Scale 1:5
max. T 500 max. 7T 304.8 <8
Control Terminals
Main Terminals =
with M12 Screws S c% © ©
ye 0 S © T T = . ® o
, with M10 ;Cﬂg §@ ozeozeo'zjg — ] ;
____________________ Screws o RV CTFAS /2T /L3 U/ T v/ T2 wWAT N
. l | a O
R ICN oty = v,®@1 'ﬁ@@w@—@ He T o o
< =2 I N
J Cel@00 0] /= & =
Tl 6.5 2x66P=132 — 5 e
371.5 2x66P=132 . . ‘ )
Grounding Terminals 68 204 1
162 46 with M12 Screws 314
231.5 2x66P=132 322 9
Scale 1:8 Detail(without Front cover)| Scale 1:5 33¢
% @ ‘E‘ YASKAWA DRAW. |[Nov.28,2013 N.Tokeyamo TITLE L1000A OPEN CHASSIS TYPE DWG . NO. 1 REV.
= CHECK L EZ/902075 ¢
o SCALE - : - APPR . MKOJYO DlMENSlON DlAGRAM 1
1 > | 3 | 4 5 | 6 | 7 | 8




